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Winter Snowflakes

- Q Q.
) o = @
g w £ .m rN/l rUI..l
O — 0 32 g 3 3
aQ SRR = o c 2 > 9
28 wve?@ EQ
o .= O — .
= Q = O . T o
o N O] Be®] 5 =
D = pme v 5 Q0
S 1L € 0O = C Q- O
OT©® ol o S g v
= ‘B = = o o}
SV o2 =2 0
553 £ 2°9=
250 ZTCE S co
7)) Q o ) c O =
Qe &2 0O° oO'n O
© A= > (%]
== c @ S0 5
[T Q= .|de
O9VLO Cc pnwu= QO o
a8, 09 Q cog
* — -—
o3 £53 ¢ £ a
2”8 2080 B3
o5 g 30020 2P
O .. C
200 2£€8 855
o c o 0} == >
=o* 0 S % ° -0 > VA.VA.
S 9= ©LDCc 00|m .VA‘VA < o
SRR O
55 iE2s ets 262026%¢
288 8588 213 o:1%e%e 2020 20
S5 8882 555 Jeedesee%eee St
> O = E o= ‘B = Q VA.YA YA.YA > > > ‘
. E2Z 8337 15§ 026%0%0%0%0%026%020%¢
e §2E S8RZ <5¥ s0020%%020% %%
0 903 M|0W Q&= o o > < < > P >< o
g3ifdgerecs o2 % 2020202000
S =25 5238 go2 02020202
Q5T 0] 0 . > > ><
= (e] 00 £ N
an
Hh 225 O£ Tco O o> > P« P
g SS5 JFE5 0 2e2e20
- = = O20=-0x02
> > <

Bead Color/# Needed:

O Toothpaste - 66

@ Turquoise - 45
(O White - 242
O Clear - 43
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